NOXORT

INSTALLATION

~~I-—< -~

S

Upute za postavljanje BLUE V8 tus$ vrata sa fiksnom
stijenom



WOXORT

and water is so amazing

Before final assembly please note and
check that final installation measure don’t
suit measure in name. Absolute sealing for
all doors, side panels and shower enclosure
is not possible. Medium water resistance.




G,

Before Installation

@ Please familiarise yourself with the fitting instructions before commencing
fitting. Check that you have the tools required.

@ Check that the installation site is compatible with the size of door
supplied.

@ Check all the enclosure components.

@ Tools: Power Drill; 6,5 and 3 diameter Drill Bits; Philips screwdriver; Plain
screwdriver; Spirit Level; Pencil; Plastic hammer; Tape measure; Silicone
spray; Line hammer; Monkey wrench

@ Check that the installation kit is complete. DO NOT attempt to install the
product unless you can tick ALL 3 boxes as satisfactory.

(1 The wall plugs supplied with the installation kit are for use in solid walls.
Hollow or "stud-partition" walls will require alternative fixings. Please
consult a hardware supplier for the correct type.

] Ensure that there is no wire, pipe or any other things hidden in the wall.

(]It may also be necessary to consult your tiling supplier about the correct
method for drilling your tiles.

Glass is fragile, please pay great care when you move or install it and
avoid bumping it into hard things. Place them upright but slightly aslant
against the wall on the soft cushion after unpacking it. Any parts missing
or damaged must be reported to your supplier within 3 days of purchase.
Inspect shower enclosure before fitting. No claims will be acceptable after
product has been installed.




WOXORT

and water is so amazing

14 2 end caps

Contents
15 1 installation assistant A
1 6 screw cover caps 16 1 bottom strip
2 6 M4x12 head screws 17 1 bottom water seal
3 10 wall plugs 18 1 installation assistant B
4 6 screw washers 19 2 corner end caps
5 9 M4x30 head screws 20 1 magnet seal
6 1 wall channel 21 1 side panel
7 1 fixed panel 22 1 glass clip
8 2hinges 23 2 wall channels
9 1 door water seal 24 1 long top bar
10 1 door 25 1 short top bar
11 1 magnet seal 26 1 top bar connection
12 1 handle 27 1 wall bracket

13 4 off centre adjustable block

27 26 25 24
o =L ) S
2 §] 2
T 1 &
s [T A
% ) %\ w
5 q |~ e Z
(in side panel)/ P /
22 (in side panel)
/ - o,
? | | //// s
.
9 L .
T | —1
| N | / @
| H .
11— A
—/° | oo o, |lle
2 T[> ‘
ot /’
13—

21 (in side panel)

= ™7 20 (in side panel)
19 (in side panel)
14 o
15
16 17 18




~

M4x8
top bar x2 glass clip x1 Philip's head screw x1
protector x1 top bar connection x1 wall bracket x1 hinge x2 handle x1
in side panel M %
<> <>
~ J%QQ\ ©Q @
M4x8 L R L R MaX12 ST4x30 97x30
her
Philip's head off centre  SCTOW WaSNET . o cover Philip's head Philip's head  wall plug x9
screw x1  dlassclipx1  comer end cap x2 endcapx2  adjustable block X6 cap X6 screwxb  Sore

x4

Installation

1 Ensure the top surface of the shower tray on which the
enclosure will be installed is level in every direction.

2 The tiles or other wall finishing should be effectively sealed
at tray edges.

3 Tiles should extend at least to the corner of the tray and a
minimum of 2,1 meters from top of the tray

Ensure the shower tray is level in all directions and is
properly sealed to the wall.




WOXORT

and water is so amazing

Warning: When you install door with 6
side panel you have to use wall profile
from side panel with door and door
wall profile with side panel!

o +

{
)

100_,

v

100mm

T,
!}

!/
A
4
i

100




slant hinge
a little

Q)
9 ®
- T 7777 8 0
1
- @
a 7 N\ J
| N
) T R
L

Please use installation assistant when fit
moving door.

ndjust moving door, fixed panel and side panel \

base on magnetic seals is attached to make them
are level with the tray outer fringe.
Mark on wall and drill hole.

@ IW
21 I

10 " 20 |

AN

Adjust fixed panel and side panel according to \
below instruction to make magnetic seal is attracted

: ~,
f’ Sy PRI

& 7 21 2
\_ J

( top ®)

7 5-7mm 10
8
5-7mm
L~
")

10
5-7mm
5-7mm

bottom

M .6 2.5mm hex
L spanner

IMPORTANT:

( 20mm  20mm 20mm
Moving door
- . L’—'—’Jf

F = f )

(6

=

N

6.5

+
o DRF

1\




WOXORT

and water is so amazing

Note: make A ,B length are /“\‘
same . @ %

@x‘ %j g
o — ] 21
E?Z gl &) 9
/

J

The frame drains internally.
Silicone should only be applied on the outside and not on the inside of the frame.

8



Cleaning and maintenence

Maintain and clean your cabin regularly to prevent limescale
and closing problems. Clean the shower enclosure with a
soft cloth and a mild detergent. Do not clean the cabin with
aggressive agents such as alcohol, petrol or other chemicals.
If the doors are creaking after the cabin is installed, you can
put lubricant on the wheel roller, profile.




UPUTE ZA POSTAVLJANJE
BLUE V8 TUS VRATA
S FIKSNOM STIJENOM

10



Prije ugradnje provjerite ugradne mjere
buduéi da se one uvijek razlikuju od
nazivnih. Apsolutno brtvljenje tus kabina
i/ili vrata/stranica nije moguce.

Srednja vodonepropusnost.

11



WOXORT

and water is so amazing

Prije postavljanja:

Molimo vas da se upoznate sa uputstvima prije pocetka.

@ Provijerite imate li sav potreban alat

@ Provijerite da li je prostor za montazu u skladu sa mjerama kabine.

© Provjerite sve sastavne dijelove kabine.

O Provijerite sve dijelove za montazu.

@ Potreban alat: elektri¢na busilica; svrdla promjera 6.5 i 3; krizni odvijag;
obi¢ni odvijag; libela; olovka; plasti¢ni ¢eki¢; mjerna traka; silikonski sprej,
precizni ¢eki¢, francuski klju¢

@ 6,5 mm %gsi

Osigurajte da nema problema sa sva 3 proizvoda ispod.

] Zidni ulosci koji se isporu¢uju sa priborom za montazu su za ¢vrste zidove.
Suplji ili montaZni zahtjevaju drugagije uloske.

(] Osigurajte da u zidu nisu skrivene cijevi i vodici.

[ Mozda ¢e biti potrebno konzultirati proizvodaca plocica oko pravilnog
nacina busenja.

Staklo je lomljivo, molimo vas da s njim rukujete jako oprezno te
izbjegavate udarce o tvrde predmete. OdlaZite ga uspravno na zid te
podlazuci ne¢im mekim nakon raspakiravanja. Svaki nedostatak ili
ostecenje dijelova ili pribora mora biti prijavljeno dostavljacu unutar 8
dana od kupnje. Provjerite kabinu prije montaze. Reklamacije nakon
postavljanja nece biti uvazene.

12



14 2 spojna djela

Sadrzaj
15 1 podlozak za montazu A
1 6 kapica vijka 16 1 prag
2 6 M4x12 vijka 17 1 donja brtva
3 10 zidnih uloZzaka 18 1 podlozak za montazu B
4 6 podlozaka vijka 19 2 zavrSetka praga
5 9 M4x30 vijaka 20 1 magnetna brtva
6 1 zidni profil 21 1 magnetna brtva
7 1 fiksno platno 22 1 drzac¢ za staklo
8 2 panta 23 2 zidna profila
9 1 brtva za vrata 24 1 fiksator duzi
10 1 vrata 25 1 fiksator kraci
11 1 magnetna brtval 26 1 spojni dio
12 1 rucka 27 1 zidni nosac
13 4 ekscentri¢ni komad
27 26 25 24 23
1\ e
(3 7z
2\‘ T —

\/
\l Ty

N

(u boénoj stranici) 6
22 (uboénoj stranici)

AV

=

AN

\ %

SN

3

21 (u boénoj stranici)
& \ i 20 (uboérnoj sanc)
19 (ubocnoj stranici)
14 o
15
8/ a7 18




WOXORT

and water is so amazing

~

1x vijak
2x fiksator 1x drza¢ za staklo M4ax8
& '% %
1x titnik 1x spojnica fiksatora 1x zidni nosa¢ 2x panta 1x ruéka

sa fiksnom stijenom o
~ & = 3 &) s &
& Q ¥
L R t R x Bx X 9 ox |

6x
1x vijak 1x drza¢ 2x zavrsetak 2x spojni ekscentriéni  podlodka kapica vijak vijak zidnih
M4x8 za staklo praga komad komad vijka vijka ST4x12 ST4x30  ulozaka

Instalacija

1 Osigurajte da je gornji rub kade niveliran u svim smjerovima.
2 Plogice ili neki drugi zidni pokrov mora biti zabrtvljen sa rubom kade.
3 Plo¢ice moraju biti minimalno od ruba kade pa 2.1m prema gore.

Potreban alat: 6mm zidarski bit, busilica, sanitarni silikon, olovka, metar,
odvijag, libela

Osigurajte da je gornji rub kade niveliran
u svim smjerovima i propisno zabrtvljen
sa zidom.

14



Napomena: Kada se montiraju vrata
sa stranicom zidni profil od vrata
montira se na stranicu, a zidni profil
stranice montira se na vrata!

1

100_,

|
— 7'___|
!_'\_

= e
\\,
o
®

100

IZTTTAT
)

v

o +

15



WOXORT

and water is so amazing

7 malo nakositi
pant

VAZNO:

20mm 20mm 20mm
vrata

k [} f podloga f j

koristiti podlozak za
montazu N

6.5

/I;V\Iagodlle vrata i fiksnu stijenu sa kadom tako da\ 23
budu poravnati i nivelirani. Spojite profile 6 i 20 te 0

ih uévrstite na zid

I
° 7

21

@
|
21 I
10 | 11 |20 /I
_ |

/ Prilagodite dimenzije profila 6 i 20 koje se
preklapaiu tako da zidni profil bude priljubljen
uz zid. Mogzete i prilagoditi preklopnu dimenziju
fiksnog stakla i zidnog profila ako se ne moze
priljubit uza zid. w

’;/ oy PN
e 7 21 2
N J

J

16



&,
Iﬁ*
\ﬁi’ ’

f -7 \\ M
( | odrezati brtvu
Ny // kao na slici
-

J

Vodite rac¢una da su
A'i B iste duljine.

@

Q,

Silikon nanesite jedino sa vanjske strane okvira, nikako sa unutarnje.

17



WOXORT

and water is so amazing

Ciscenje i odrzavanje

Odrzavaijte i Cistite svoju kabinu redovito kako bi sprijecili
nastanak kamenca i problema prilikom zatvaranja. Ciéenje tus
kabine vrsite s mekom krpom i blagim deterdzentom. Kabinu
ne Cistite agresivnim sredstvima kao $to su alkohol, benzin

ili ostala kemijska sredstva. Nakon $to je kabina postavljena
ukoliko prilikom otvaranja/zatvaranja vrata Skripe mozete
staviti sredstvo za podmazivanje na valjak kotaca, profil.

18



